Memory
Simplifying
V500 = V100 x V5 = 105
Jaxia=a
Multiplying

V3 x5 =415
247 x 3V2 = 614
Dividing

V15 +v3 =+/5
18v30 + 3V6 = 65
Adding and subtracting

3vV5 + 25 = 7V5

ROK — (Retention of Knowledge)

Stretch

Simplify the following surd

3 2
_x_

V2 V4

Addition and
Simplify Multiply Dividing Subtraction
1) V24 1) V2 xV14 1) V18 ++3 1) V8++2
2) V44 2) V5 x+/8 2) 24 =2 2) V20 =5
3) V45 3) V3 x+6 3) V48 =3 3) V3 +V12
4) V128 4) V10 x V8 4) V64 ++2 4) V8 -2
Litera cy Skl” 1 Rationalise the denominator to make it a rational
number

What is a rational 3 - . 5 17 Ji2
number? 1) E 5) ? 9) Fg 13)\/? )fg
o~ 22 = 30 37

Gl 2 2% MR TR
S V7 9% D 165= 20):*/‘—2_F§

Sk||| 3 Rationalise the denominator to make it a rational number

1

6
D Fovz Y o
2) — 5) 2
V32 V5+v3
3) = 6) —
V7+V5 ) V342

7)
8)
9)

4

Vv11-3

12
V743
6
V13-2

Skill 2 Expand the following brackets
1) V2(V3 + 4) 2) (V3+4)(V2 +5)

3) (V3+4)(V3+4)  4)(V3+4)(V3-4)
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Memory

ROK — (Retention of Knowledge)

Simplifying Addition and
V500 = V100 x V5 = 105 Simplify Answers Multiply Answers Dividing Answers Subtraction Answers
Multiplying vaxya=a 1) m 1) 2\/6 1) \/Exm 1) 2\/7 1) \/ﬁ_\/g 1) \/6 1) \/§+\/§ 1) 3\/7
V3 x V5 = Vi 2)V&E 2) 211 2) V5 x V8 2) 2V10 2) N24+~2 2) 23 2) V20 -+52) 5
2V7 x 3V2 = 6V14 3) Va5 3)3V5 3) V3xV6 3)3V2 3)V48++v33)4 3 V3+123) 33
ovidng 4) V1284) 8V2 4) VI0xV8 4) 45 4) V64 +V2 4) W2 4) V§—V2 4) V2

18v30 = 3vV6 = 65

Adding and subtracting Litera cy Skl ” 1 Rationalise the denominator to make it a rational
3V5 +2v5 = 7v5 o number
What is a rational
?
St,ret_Ch , A Rat?ounr;ber' 1). V3 7. s 3. W7 4. 42 5. 46
Simplify the following surd Number is a real 6. Vi3 7. N2 B).  V5/5 9. I3 10). 3155
3 o 2 number that can be 11). V&2 12). 423 13). 2515 14). a2 15). 23
NG written as a simple 16). V&/5 17). 2 18). 35/5 19). w3 20). 2
fraction /7 O
61/8 _ 122 _ 1@ | (ed)”
8 8 2
Skill 3 Rationalise the denominator to make it a rational number Skill 2 Expand the following brackets
1) V2(V3 + 4) 2) (V3+4)(V2 +5)
20). (VE-NIVE 22 342 23) NT-2E 24) V1347 25) W53 (V6 + 4V2) (V6 + +5v3 + 4V2 + 20)
26). V3-2 2T WIL+6 28). -6NT+18 29) (W13+ 4)330). V6
1 ) + ) + b + 4)/3 30) 3)(\/§+4)(\/§+4) 4)(\/§+4)(\/§_4)
, (3 +4V3 + 4V3 + 16) (3 +4V3 = 4V3 + 16)
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